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SH4E2H8H (KN)

Mt
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SRR ==Y H 2 5 1B Z B fm &

BERXFEE 1228|235 X 40.4 1,389 459

RXAIH LA 133.3 787 200

JUH LA 397.0 1,030 50

<AOLA 730.8 459 229

XA LA 611.6 460 69

<55 119.7 169 30

F+77>39 38.4 300 100

HFHS 143.4 50 20

>0OX/)VUlL 835.3 741 300

JdEHAN 102.8 101 20

12€ |12 HhD25TA 354.1 1,000 611

finERME 17 AHITSSITA 746.9 750 469
L 28 JdEHAN 44.9 103

$9n 5& >0OX/)VUl 60.7 789 450
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4,359.3




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
BEEXNRIFE 1225 X 450.8 1,800 200
A2HLA 52.6 400 200
<AL A 211.8 250 50
55 32.6 120 50
==y Ly 90.9 250 200
#]D 4& E=5X 141.7 1,600 500
aituE 980.4




